Efficient & Server-X Serisi Dikili Tip

§AN 600x600 & 600x800 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Installation Guide and Instructions)

PRODUCT ASSEMBLY
MONTAJ KITAPCIGI

UST TAVAN-UPPER CEILING

ALT TABAN-LOWER BASE

BOY DIKME-VERTICAL POLE

RACK DIKME-RACK VERTICAL POLE
KABLO GECIS-REAR CABLE TRANSTION

YAN DERINLIK ATKI-SIDE DEPTH WEFT

Pl

YAN KAPAK-SIDE COVER

ARKA KAPAK-REAR COVER

@EPOQ@OVWOEOE O

CAMLI ON KAPAK-GLASS FRONT DOOR
& &
PERFORE ON KAPAK PERFORED
FRONT DOOR

—




§§ Efficient & Server-X Serisi Dikili Tip

600x600 & 600x800 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Installation Guide and Instructions)

X

DETAYI
RN DETAIL

L

J

\

(5)  KABLO GEGIS

A

Kablo gecis kapagini (X-X) detayinda gésterildigi sekilde uygun vida ile vidalayiniz.

X-X
Her iki tarafada ayni islemi uygulayiniz. DETAYI
. DETAIL
Screw the cable cover (X-X) with the screw shown entry

appropriate as in detail Do the same procedure on both sides




Efficient & Server-X Serisi Dikili Tip

§AN 600x600 & 600x800 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Installation Guide and Instructions)

§

N

~ v

1 DETAYI
DETAIL

M6X15 YB
CIiVATA
M6X15 SCREW

9

N K q
4 R e

Yan derinlik atkisini (V-V) detayinda gésterildigi sekilde uygun civata ve somunla vidalayiniz. v‘\\
Yan derinlik atkisinin diger taraflarinida ayni sekilde yapiniz. 4 \%

i i Screw the side depth weft (V-V) with the appropriate bolt and nut as shown in detail.
@ YAN DERI N LI K ATKI Do the other sides of the side depth weft in the same way.
SIDE DEPTH WEFT AY d

Note: Side depth weft is used in 34U and above cabinets. DETAYI —

||||||




Efficient & Server-X Serisi Dikili Tip

§AN 600x600 & 600x800 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Installation Guide and Instructions)

RACK DIKME
(4) RACK VERTICAL POLE

,/

H
DETAYI
DETAIL
i
H-H |u>,,
DETAYI ~AY G
)
DETAIL ; N
IVATA KESITI & DETAYI
enon |4 DETAIL

4

MMMMMMM
MMMMM

A\ SN e wY

o0 000000000
RNOODOOLD

=

Rack dikmelerini yan derinlik atkisina (H-H) detayinda géosterildigi sekilde uygun civata ve somun ile
vidalayimiz.Diger késelerede aymi islemi uygulayimyz. T/ MgsomuN
Fix the rack uprights to the side depth weft (H-H) with the appropriate bolt and nut as shown indetail. ~ M8NUT

Note: Side depth weft is used in 34U and above cabinets. screw it in. Do the same for the other comers.

Rack dikmelerini (G-G) detayinda gésterildigi sekilde uygun civata ve somun ile alt taban ve list tavana
idal. Diger késelerede ayni islemi uygulay

y 5
Screw the rack uprights (G-G) to the lower floor and upper ceiling with the appropriate bolt and nut as
shown in detail. Do the same for the other corners.



Efficient & Server-X Serisi Dikili Tip

§AN 600x600 & 600x800 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Installation Guide and Instructions)

, &7

DETAYI

DETAIL N
KK /

DETAYI
DETAI

NS

() YAN KAPAK
SIDE COVER

Yan kapaklarin alt k da (K-K)detayinda gosterilen kapagi sabitl biikiimleri alt tabanda
uygun yariklara yerlestiriniz.Daha sonra Kilitleme islemini yapabilirsiniz.

Kapagi sabitleme biikiimii
Twist to fix the cover

Place the cover fixing twists shown in detail (K-K) at the bottom of the side covers into the

appropriate slots in the lower base. Then you can do the locking process.



Efficient & Server-X Serisi Dikili Tip

S - !
VATBAN 600x600 & 600x800 Rack Kabin Montaj Kilavuzu ve Talimatlari
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Installation Guide and Instructions)

Camli 6n k list k da (D-D) detayin gésterildigi gibi

yayl pimi asagi dogru cekerek iist tavandaki pim deligine yerlestiriniz.

As detail shown on top of perfored front cover (D-D)
pull the spring pin down and insert it into the pin hole in the upper ceiling. 6 ARKA KAPAK
REAR COVER

&

D-D
DETAYI
DETAIL

M
DETAYI
DETAIL

o3 r i
. 353 DETAYI DETAVI
PERFORE ON KAPAK 2 DETAIL SE A
PERFORED FRONT DOOR
E
/ DETAYI
- DETAIL
2 T
DETAYI /
DETAIL B?X.YL'

Kapagi sabitleme bikimii
Twist to fix the cover

Camli 6n kapagin alt kisminda (F-F)detayinda gdsterilen kapagin ge¢me pimini alt tabanda
uygun delige yerlestiriniz.

Place the pin of the cover shown in detail (F-F) at the bottom of the perfored front cover into the
appropriate hole in the lower base.




Efficient & Server-X Serisi Dikili Tip

600x600 & 600x800 Rack Kabin Dahili Donanim Malzemeleri
(Efficient & Server-X Series Free Standing 600x600 & 600x800 Rack Cabinet Internal Hardware Materials)

sssssssssssssssssssssssss

40x M6x15 40x M6 12x M8x15 Fx 2] 12x M8 4x M5
Mantar Bash Altik6se Flansh | (P Mantar Basli = ~, |Altikése Flansh | (% 4 Mercimek Bash
= \f . &=2 3 \f §
Kanal Civata Somun | } \@\ Kanal Civata £ [ iy Somun j ] \@ Ysb Vida
(40x Mé6x15 (40x M6 ' :/ (12x M8x15 &3 ) (12x M8 -( % f‘j (4x M5 Lenti/
Mushroom Hexagon Flange Mushroom b Hexagon Flange o Head Ysb
Head Bold) Nut) Head Bold) Nut) Screw)
1x On Kapi 1x Kapu Kilit 6x Yan ve Arka 12x Kapi Kilit
Kilidi Anahtari Arkasi Rozeti Kapak Kilidi Anahtarlari
(1x Front Door (1x Door Lock (6x Side and (12x Door Lock
Lock Key) Back Badge) Back Cover switches)
Locks)
Montaj icin Gerekli Aletler
(Tools Required For Assembly)
1x Yildiz
- = 5
(T;)’(r/';;);/'f'g 1x Pense \ 1x Sarji Matkap
/2 (1x Pliers) (1x Cordless Drill)
screwariver)
Amator Seviye Amator Seviye

(Amateur Leve/)

(Amateur Level)

Profesiyonel Seviye
(Professional Level)




